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ccosA+acosC = ksinCcosA-+ Eksin AcosC

= ksin(A+C)
= ksin(m — B)
= ksinB

= b

a(bcosC'+ ccos B) + b(ccos A+ acosC) — c¢(acos B+ bcos A)
= (ab+ ab) cos C + (bc — bc) cos A + (ac — ac) cos B
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= 2abcosC

2bc)? — (b* + ¢ — a®)?

2bc + b* + ¢ — a*)(2bc — b* — ¢ + a?)
{(b+¢)* —a’Ha” = (b— )}

= (b+c+a)b+c—a)la—b+c)(a+b—c)
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(a+b+c)(—a+b+c)la—b+c)la+b—c)
2(abc)?
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Q =R,
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(6) (ii) 2> (iii) 2> (vii) D & X 2abcosC = a? + b? — 2
Thod, —F

a’+b*—c* = a(bcos C+ccos B)+b(ccos A+acos C)—c’
ThHod, £-C

2ab cos C' = a(bcos C'+ccos B)+b(ccos A+acos C)—c?
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